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❖Simple interest formula is given as

साधारण ब्याज( SI) = 
(P × R ×T)

100

Where SI = simple interest

P = principal

R = interest rate (in percentage)

T = time duration (in years)

In order the calculate the total amount, the following formula is used:

Amount (A) = Principal (P) + Interest (I)
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What would be the simple interest obtained 

on the amount of Rs.9340 at the rate of 12% 

p.a. after 5 years?

5 वर्षों के बाद 12% प्रति वर्षष की दर से Rs.9340 की 

राति पर प्राप्त साधारण ब्याज क्या ोगाा?

a)Rs.5604 

b)Rs.7472 

c)Rs.6538 

d)Rs.4203
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A sum of Rs.8,400 Rs.11,046 at 8.75% amounts 

p.a. to simple interest in certain time. What is 

the simple interest on the sum of Rs.9,600 at 

the same rate for the same time?

रु8,400 की राति 8.75% वातर्षषक ब्याज की दर से 

तितिि समय में रु11,046 ोग जािी ोै। उसी समय के 

तिए िथा उसी ब्याज दर पर रु9,600 की राति पर 

साधारण ब्याज क्या ोगाा?

(a) Rs.3,024 

(b) Rs.2,686 

(c) Rs.3,012 

(d) Rs.2,990 



SSC 2022 | CGL | CHSL | CPO |           at 06:30 PM

Rs. 6000 amounts to Rs 6900 in year at simple 

interest. What will be the Rs 8000 in 2 years.

रु. 6000 की धनराशि एक साल में रु. 6900 हो जाती ह ैतो 

रु. 8000 की धनराशि उसी साधारण ब्याज दर से 2 वर्षों में 

शकतनी हो जाएगी ?

a)Rs.10400 

b)Rs.9200 

c)Rs.9600

d)Rs.9800
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A sum of Rs. 2300 amounts to Rs. 3650 in 4 

years at S.I. If the rate of interest increased 

by 1 % , it would amount to how much?

एक तितिि ब्याज दर से 4 वर्षों में 2300 रुपए की 

धिराति 3650 रुपए ोग जािी ोै यतद ब्याज दर कग 1% 

अतधक कर तदया जाए िग तमश्रधि ज्ञाि करें?

a)Rs.3696 

b)Rs.3850 

c)Rs.3842.5 

d)Rs.3742
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Rs.3200 Becomes Rs.5312 at a certain rate of 

interest in 6 years. If rate of interest would be 

7.5% more, then find the new amount.

एक तितिि ब्याज दर से वर्षों में रु 3200की धिराति रु 

5312 ोग जािी ोै यतद ब्याज दर कग 7.5% अतधक कर 

तदया जाए िग अब िया तमश्रधि क्या ोगाा?

a)Rs. 6752 

b)Rs.6912 

c)Rs.6176 

d)Rs.4640



SSC 2022 | CGL | CHSL | CPO |           at 06:30 PM

A certain sum of money is given at a certain 

rate of interest for 8 years, if rate of interest 

would be 10.5 % more, then Rs.2100 more 

interest will get. Then find the principal.

एक तितिि धिराति 8 वर्षष के तिए एक तितिि ब्याज 

दर पर दी जािी ोै |यतद ब्याज दर कग 10.5% अतधक 

कर तदया जाए िग रुपए 2100 अतधक ब्याज प्राप्त ोगाा 

िग मूिधि ज्ञाि कीतजए?

a)Rs. 2000 

b)Rs.2400 

c)Rs.2500 

d)Rs.3000
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A sum of money lent at simple interest 

amount to Rs 9,920 after 2 years and to Rs 

12,800 after 5 years. Find the rate of interest 

per annum.

साधारण ब्याज पर दी गई एक धनराशि 2 वर्षष के बाद 9,920 

रु. तथा 5 वर्षष के बाद 12,800 रु. हो जाती ह।ै वाशर्षषक ब्याज

दर ज्ञात करें ।

(a) 6.57%

(b) 12%

(c) 18%

(d) 9.68% 
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If a sum of money amounts to Rs.2502 in 3 

years and Rs.3087 in 5.5 years at the same 

rate of simple interest per annum. Then the 

rate of simple interest is ?

यशद कोई राशि साधारण ब्याज की एक ही वाशर्षषक दर पर 3

वर्षष में रुपए 2502 और 5.5 वर्षष में रुपए 3087 हो जाती ह ै

तो साधारण ब्याज की दर ज्ञात करें

a)11% 

b)13% 

c)19%

d)17%
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The rate of simple interest for first 3 years is 8%, 

for next 4 years it is 8.5% and the period beyond 

7 years it is 7.5% per annum. If the total simple 

interest at the end of 13 years is Rs.9270. Find the 

initial investment.

एक शनशित धनराशि पर पहले 3 वर्षष में साधारण ब्याज की दर 

8% ह ैअगले 4 वर्षों तक साधारण ब्याज की दर 8.5% ह ैऔर 7

वर्षष के पिात ब्याज की दर 7.5% ह ैयशद 13 वर्षष के पिात रुपए 

9270 साधारण ब्याज प्राप्त होता ह ैतो मलूधन ज्ञात करें ?

a)Rs.8100 

b)Rs.9600 

c)Rs.9000 

d)Rs.10000
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The rate of S.I. on a certain sum of money is 6.5% per 
annum for first four years, 9% per annum for next 7 
years, and 10% per annum for the period beyond 11 
years. If the Amount received at at the end of 19 years 
is Rs.43040. Find the sum of money?

एक तितिि धिराति पर पोिे  4 वर्षष में साधारण ब्याज की दर 

6.5% ोै अािे 7 वर्षों िक साधारण ब्याज की दर 9% ोै और 

11 वर्षष के पिाि ब्याज की दर 10% ोै यतद 19 वर्षष के पिाि 

रुपए 43040 राति प्राप्त ोगिी ोै िग मूिधि ज्ञाि करें ?

a)14000 

b)16000 

c)20000 

d)18000


